= 1 _
ety = 29 VRS W= -1, 02w, 1] Wk

®35 @48 @58 @69 ©710

rgte] HelE -1, 00|22




[0
usl

A4y = —2xt 19 T 919 & 4] 27 (o, Ta

W, 4a © g 542

® o )2 ® 4 @ 8 ® 12

4 o 2 _
7 ( -a) £ AAUS y = —2x-+1 9 HYoHE




Lol
N
o

o
o

—_—

=
oF
ol
NI
Tod

o=t

A A (3, 2), (4, k), (1, =2) 7}

_ZF_

3.

Ch "

.

ull

B
k-2
4-3

—2—k
1-4

-3(k-2)=-2-k

=-2-k

-3k +6







2 4Rl =99

ool x5, yEF2

x—39 19

1

T4

Felet.

9

=X

ol

18

-

ul

X3x12=18

1
2




y=8x—-2 9 (a, 30) & Y3t}
30 =8a-2

—8a = -32

a=414




y=§x+47}y=ax+b°a'Uﬂ, (x A9

JH = 5 OO B 7H-oF gt

_EL
~
|||
|
=
Il
|
oo
—
=




A3
A
< VARRS
Gy
_,_
T
=
+
—E
Ty
S
=
< _u_u_
o
Caoy
it Mﬂ
o =
m
Moy
on o
T OH|

8.

@ A(2, 0) ® A(4, 0)

@A, 0)

@ A(1, 0)

@ A(6, 0)

= 40]1’

ol 40|82 p

yZAH




y=ax+39 g yF9] ¢Fo] o=z
A (0, —4)—— AU, y = —x -2 xF
0] WAy — px+a 9ol YA LS He

@ (0,-2) @ (1,-9) ® (-1,5)
@ (-2,12) (@)(2,—14)

~&B

y=ax+3+b7} A (0, —4)E AYE=Z
3+b=-4 ..b=-T7

y=-x-23 x5 9o/ TR =
(=2,0)2 y = ax — 4 $1°f AUt
0=-2a-4..a=-2

S Y==Tx=2

-14#-7x2-20]B2
(2,-14) = y = -7x - 2 f]° Y= #o] oty




